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James Rarmon

James (mass 90.0 kg) and Ramon (mass 60.0 kg) are 20.0 m apart

90.0kg L 600kg on a frozen pond. Midway between them is a mug of their favorite
—F WA beverage. They pull on the ends of a light rope stretched between
?_ 9 g = YP 34 pc
them. When James has moved 6.0 m toward the mug, how far and
——y 2
—_—— ——
A G [P - X in what direction has Ramon moved?
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L bozg
8.106 -+ A 45.0-kg woman stands up in a 60.0-kg canoe 5.00 m \ 2
long. She walks from a point 1.00 m from one end to a point 1.00 m o —
from the other end (Fig. P8.106). If you ignore resistance to Lwr
motion of the canoe in the water, how far does the canoe move \’ I
during this process? §
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§ between them; then the system is released from rest on a level, d’ =0

frictionless surface. The spring, which has negligible mass, is not o
fastened to either block and drops to the surface after it has M_ l
expanded. Block B acquires a speed of 1.20 m/s. (a) What is the

final speed of block A? (b) How much potential energy was stored W

in the compressed spring? L2wss
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